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1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
0.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

2. Readallinstructions on the reverse of 0.M.R. Answer Sheet.

3. OnO.M.R.Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. If more than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated asfinal.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
examination hall is strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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The famous folk song ‘Humseedo’ sung by both
males and females together in the Northern Mewar
region of Rajasthan, belongs to which community ?

(A) Meena (B) Sahariya
(C©) Bhil (D) Garasia
(E)  Question not attempted

Two years ago, the ratio of ages of Vinay and Ashu
was 3 : 4. One year hence, the ratio of their ages will
be 7 : 9. What is the present age of Ashu ?

(A) 25years (B) 26 years
(C) 24 years (D) 27 years
(E)  Question not attempted

Mangi Bai and Lakshman Das Kamad are the
prominent dancers of which of the following dance
forms ?

(A) Bhavai (B) Bum
(C) Terah Taali (D) Ghoomar
(E)  Question not attempted

If x+y=10, y+z=_8 and z + x =24, then the average
of x,yand zis:

N4 (B) 10
<© 9 (D) 14
(E)  Question not attempted

The iconic song of Rajasthan - “Dharti Dhoran Ri”
- was written by :

(A) Meghraj Mukul

(B) Kanhaiyalal Sethia

(C)  Satyaprakash Joshi

(D) Paras Arora

(E)  Question not attempted

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(A) Telangana (B) Bihar
(C©) Karnataka (D) Haryana
(E)  Question not attempted
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Under the Indian Constitution, a person who is not
a member of the State Legislature may be appointed
as a minister, but if he/she is not elected to the State
Legislature within from the date of
appointment, he/she must vacate the office.

(A)
(©) 15 months

12 months (B) 8 months
(D)

(E)  Question not attempted

6 months

Where in Rajasthan is the Kolana Airport located ?
(A) Nagaur (B) Sikar

(©) Tonk (D)
(E)  Question not attempted

Jhalawar

A and B together can do a work in 10 days; B and C
together can do the same work in 12 days whereas
A and C together can do it in 15 days. How long will
A, B and C take to do the work if they work
together ?

1
(A) 7 days (B) 75 days

1
(C) 8days (D) 85 days

(E) Question not attempted

Who among the following is the founder of the
Kamadia Panth in Rajasthan ?

(A) Mallinathji

(B) Pabuji

(©) Ramdeviji

(D)  Devnarayanji

(E)  Question not attempted

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

(A) Salivary gland - Amylase
(B) Kidneys - Trypsin

(C©) Liver - Bile

(D) Intestine - Maltase

(

E)  Question not attempted

P.T.O.
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12.

15.

The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World
War-Il is :

(A) Pichola
(B)  Anasagar
©

(D)

Rajsamand
Nakki

(E)  Question not attempted

In the rural area of the Rajasthan, the sex-ratio of
(0-6 age group) of children (female/1000 males) in
2011 was:

(A) 874 (B)
(C) 933 (D)
(E)  Question not attempted

892
911

Which one of the following is not a main feature of
Rajasthani painting ?

Choose the most appropriate answer from the
options given below :

(A) Use of vibrant colours in the portrayal of
‘bhakti” and ‘shringaar’ in paintings

(B)  Rajasthani painting is not publicly displayed
in palaces, forts, temples and havelis

(C©)  The amatory (sringarik) depiction of seasons
and their impact on human life
(D)  Vivid depiction of natural as well as feminine

beauty gives Rajasthani painting a distinct
identity

(E)  Question not attempted

Which of the following is the largest Jain fair in
Rajasthan that is celebrated in Chandanpur

village ?

(A) Diggi Kalyanji Fair

(B)  Shri Mahavirji Fair

(©) Kapil Muni Fair

(D) Bhartrihari Fair

(E)  Question not attempted
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16.

17.

20.

The collapse of which bridge in Kota in 2009 caused
a major infrastructural disaster ?

(A) Chandpole Bridge
(B)  Daiji Bridge

(©) Chambal Bridge
(D)  Sattapol Bridge

=

Question not attempted

Two pipes A and B can fill a tank in 40 minutes and
50 minutes respectively. If both the pipes are
opened simultaneously, then after how much time
(in minutes) should pipe A be closed so that the tank
gets filled in 30 minutes ?

(A) 16
€ 15

(E) Question not attempted

The most important ancient “Jeen Mata Temple” in
Rajasthan, is located near :

Choose the most appropriate answer from the
options given below :

(A) Sikar (B)

(©) Churu (D)

Jhunjhunu
Bikaner

(E)  Question not attempted

A sum of ¥ 2,500 on simple interest becomes
% 3,250 in 3 years. What will be the compound
interest on the same sum at the same rate of interest
after 2 years ?

(A) X500 (B)
(€ X525 (D)
(E)  Question not attempted

%510
3 550

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the
options given below :

(A) Udaipur (B)

(©) Rajsamand (D)

Ajmer
Tonk
(E)  Question not attempted

P.T.O.
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21.

22,

23.

24.

25.

Udaipur, Chittorgarh, Rajsamand and Dungarpur
are part of which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options given below :

(A) Hadoti (B) Braj

(©) Mewar (D) Marwar

(E)  Question not attempted

What is the minimum age requirement to be a
member of the Vidhan Parishad (Legislative
Council) of a State in India ?

(A) 25years (B) 30 years

(C) 3b5years (D) 45 years

(E)  Question not attempted

Which of the following lakes is also known as the
‘Dhebar Lake’ ?

(A) Rajsamand (B) Jaisamand

(C) Pichola (D) Pushkar

(E)  Question not attempted

Which of the following Articles of the Constitution
of India deals with the Fundamental Duties ?

(A) Article42 A (B) Article51 A

(C) Article244 A (D) Article 51

(E)  Question not attempted

What is the name of the second multi-purpose
vessel built for the Indian Navy and launched in
January 2025 ?

(A) INS Utkarsh
B) INS Samrat

(

(C©) INS Shakti
(D) INS Samarthak
(

E)  Question not attempted
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26.

27.

28.

29.

The ‘Mavath’ rainfall of the Rabi season, is
associated with which one of the following ?

(A) South-West Monsoon

—~~

B)  North-East Monsoon
(C)  Western disturbances
(D)  Bay of Bengal Monsoonal Winds

(E)  Question not attempted

In computer science terminology, the full form of
SMTP is :

A)  Simple Mail Transfer Protocol

B)  Source Mail Transport Protocol

(
(
(C©)  Simple Mail Transport Protocol
(D)  Source Mail Transfer Protocol

(

E)  Question not attempted

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) OMR

(B) OCR

(© ssb

(D) BCR

(E)  Question not attempted

According to the Rajasthan Budget 2025-26, how
many greenfield expressways are planned to be
constructed in the State ?

(A) 15 (B) 8
<© 9 (D) 20
(E)  Question not attempted

Which one of the following articles of jewellery is
worn by Rajasthani men in their ears ?

(A) Murki (B)
(©)  Choonp (D)

Hansuli
Mundri

(E)  Question not attempted

P.T.O.
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31.

32.

In India, the Advocate General for a State is
appointed by the :

(A)

(B)  State Minister of Law

Chief Minister of that State

(C©)  Governor of that State
(D) President

(E)  Question not attempted

Where was Army Day celebrated on 15 January

20257
(A) Pune (B)

(D)

Delhi
(©) Bangalore Guwahati

(E)  Question not attempted

“Climate change” is considered a causal factor of
which of the following phenomena ?

Choose the most appropriate answer from the
options given below :

A) Increased glacier formation in the Himalayas

B)  Extreme weather events

(

(

(C)  Low risk of species extinction

(D) Increased meteor activity in the outer space
(

E)  Question not attempted

The Mahi Mahotsav is officially celebrated in the
region of Rajasthan every year.

(A)
(C) Pratapgarh

Banswara (B)

(D)

Dungarpur
Sirohi
(E)  Question not attempted

A dealer sold two items for ¥ 5,700 each. On one
item he gained 14% and on the other item he lost
5%. Find his profit or loss percentage in the whole
transaction.

(A)

7
Profit 11% (B)  Profit 3E %

1 2
(C) Profit 4—% (D) Loss 3— %
2 11

(E)  Question not attempted
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40.

A man bought some sweets at the rate of 4 for ¥ 21
and sold them at the rate of 2 for ¥ 13. In the whole
transaction he gained ¥ 180. How many sweets did

he buy ?
(A) 150 (B) 144
(©) 140 (D) 132

(E)  Question not attempted

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?

>

(A) Jyothi Yarraji

(B) Sandeep Sangwan
(©) Annu Rani
(

(

S

Jarmanpreet Singh
E)  Question not attempted
Which Shortcut key is used for opening the Font

Size Box in Microsoft Word to change the Font Size
of selected text ?

(A) Ctl+P

(B)  Shift+F

(C)  Ctrl + Shift + P

(D) Cul+V

(E)  Question not attempted

Riya scored 25% marks in an examination and failed
by 15 marks while Nancy scored 40% marks in the
same examination and got 15 marks more than the
minimum passing marks. The minimum passing
marks are :

(A) 65 (B) 55

(©) 40 (D) 50

(E)  Question not attempted

Study the graph and answer the following
question :

Production of Raw wool (in Metric Tonnes)
80
76

75 + 73
70 + 68

65

65 +
60 +

55 +

50 -

2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

The maximum rise in the production of raw wool
with respect to previous year :
(A) 2017-18 (B)
(© 2016-17 (D)
(E)  Question not attempted

2020-21
2019-20

P.T.O.



41.  TaerTE-geg Mg URIiSTT, 79 89 § TS &
THTaREd 3 o, 759 811 i ATHT=ad Bt 8 2
(A)  ETETS (B) dHER
© IR (D) WaY
(B) 31 aRd e
42. Y 2025 H TR H Tfeiad § F f6g o o
T U g3 3 2
(A)  FTATARER
(B) ST A
(C)  TEATE FURT
(D)  3raf @Ry
(B)  3raRd e
43. A, B3R C T 4T & AT ATEIERY & HI &
HEM TS, B 7 379 7137 Y 509% TIT 6T 37T Forarer
TeRaT QT C = 319 Taer Y 20% TRT BT 3T Fodar
TepaT| ad % 3fa § i A BT 22,800 FTHILT FeT,
HA ATH AT HY|
(A) T 78,600 (B) % 79,500
(C) 80,920 (D) % 81,700
(B) 3raRd wed
4. I T HT AT T, [ T Bt STRATT & HROT
BT :
(A) wifgTRATEEE
(B) e F RIS
(C) FATSISTT P IS
(D)  HTTH BT
(B) 3raRd wed
45.  “qi I BAarl” (clh AT BT TE) fepa o
a1 ?
(A) TR M
(B)  eeuTele wfgan
©) gHaT™H
(D)  fastagm e
(B)  3raRd e
#* DB29

10

42,

44.

The Sidhmukh-Major Irrigation Project primarily
benefits which of the following regions in
Rajasthan ?

(A)
©
(E)

Hanumangarh Bikaner

(B)
(D)

Question not attempted

Alwar Bharatpur

Who among the following is the Padma Shri
awardee for the year 2025 from Rajasthan ?

(A) Munna Master
(B) Begum Batool

(C©) Gulabo Sapera
(D) Avani Lekhara

(E)

Question not attempted

A, B and C entered into a partnership by making
equal investments. After 2 months, B made an
additional investment of 50% of his initial
investment and C made an additional investment of
20% of his initial investment. If at the end of the
year, A received ¥ 22,800 as his share in the profit,
then find the total profit.

(A) R 78,600 (B)
(© 80920 (D)
(E)  Question not attempted

% 79,500
% 81,700

The red colour of red soil is primarily due to the
presence of :

(A) Sodium nitrate

(B)  Oxides of iron

(©)  Oxides of nitrogen

(D)  Calcium carbonate

(E)  Question not attempted

“Batan Ri Phulwari” (collection of folk tales) was
written by :

A) Nathmal Joshi

B) Kanhaiyalal Sethia
) Shyamal Das
D) Vijaydan Detha

(
(
(C
(
(

E)  Question not attempted



46. T 3 WA | HTerd AT ATHAT §, AT BT
T TATEHR B EATE ?
(A) T
(B) T
©) UFHAIET
(D)  ¥ToF 3=0 AT % =T =TT
(B) 3 aRd e
47.  WERION HFAT ST A “Faora @, Ftanaa #
o fepe fepet H R & 2
(A) TG (B) feritzg
©) ST (D) smEETE
(B) 3raRd wed
48. P UARIRT AHhgls ST B (BT X W 3 99 |
% 6,65,500 311X 5 T H T 8,05,255 & ST & | ATE =TT
e Soitord &l TaT 8, A a8 AR FATE 2
(A) T 4,80,000 (B) ¥ 4,92,000
(C) ¥ 5,00,000 (D) ¥ 5,25,000
(B) 3raRd wed
49.  TSF-TANT UG I % HEW H, UDMA HTY0 &7
TE?
(A)  3rEF fEey FestHe TutRer
(B)  IFadd fEIRER HASTNT TSTHT-Rg LT
©)  FATECE TEaTReT HASTHE TR
(D) 319 TS AASIRTA TSTHIAEITT
(B)  3raRd e
50. famfeiad # o fopae, TR & AEIEET & w9 H
T I QT T T 9
(A)  ERTATS QT
(B)  SYHBTIH YT IATA
(© e sEmEd
(D)  SWT=T vETeaT
(B) 31 aRd e
% DB29 11

47.

49.

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

(A) Home Minister

(B) Governor

(C)  Chief Secretary of the State

(D)  Chief Justice of the State High Court

(E)

Question not attempted

The “Vijay Stambha’ built by Maharana Kumbha is
found in which one of the following forts ?

(A)
©
(E)

Kumbhalgarh (B)
(D)

Chittorgarh

Junagarh Jaigarh

Question not attempted

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) 4,80,000 (B)
(©) X 5,00,000 (D)
(E)  Question not attempted

3 4,92,000
% 5,25,000

In the context of State-level disaster management,
what is the full-form of UDMA ?

(A)  Urban Disaster Management Authority

(B)  Universal Disaster Managerial
Administration

(C©)  United Disaster Management Authority

(D)  Urban Disaster Managerial Administration

=

Question not attempted

Who among the following, had taken oath three
times, as the Chief Minister of Rajasthan ?

>

(A) Heera Lal Shastri

(B)  Tika Ram Paliwal

(C)  Bhairon Singh Shekhawat
(

(

o

) Jagannath Pahadia

E)  Question not attempted

P.T.O.



51.

52.

53.

54.

55.

56.

WA & Alaer= &7 a7 S aret diaam a9 |
Tepe=Tt g gawg ot 2

(A) 20 (B) 24

© 15 (D) 30

(B)  3rfand e

TSTRATT 30T HHaT eteiaa ° o e T/
TS -&151 o | ST HIATE 2

(A)  gste (B) WHEWRTS

© fooert (D) feaTeret weer

(B)  3rqand e

TSI H B F A T IR 379 10 IT-I 11 6 g
STATSTATE 2

(A) =T (B) &
© & (D) #TE
(B) 3raRd 99

THIFHIOT & 7 TN F IR, Teg (ST TR H

ST EIATAT

(A) 30 AT 1949 (B) 30 ATE 1950
(C) 30 HATH 1951 (D) 30 A= 1952
(B) 3raRd wed

TH.UH, TR §, efaigd § @ S9-97 BRE
qhINT H ATH ! fZeT | | Bhict Bea Toy fafyre gieat
3T/ HIAH BT GLITHT TATT TWATE 2

(A) FEAY

(B) wwuw

(C) Taepr ThifemT

(D) T qHT

(B)  3raRd 99

TSR BT, Treferigd § ¥ 1-37 [t arfss=
& TN AT AT TR FRATE 2

(A)  «EE (B) #BmR

©) et (D)  SRETR

(B) 31 aRd e

% DB29
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52.

54.

55.

56.

How many women members were part of the
Constituent Assembly that formed the Constitution
of India ?

(A) 20 (B) 24
(© 15 (D) 30
(E)  Question not attempted

Rajasthan shares its boundary with which one of the
following States/Union Territories ?

(A)
©
(E)

Punjab
Delhi

(B) Maharashtra
(D) Himachal Pradesh

Question not attempted

Which river basin in Rajasthan is known for its
10 sub-basins ?

(A)
©
(E)

Chambal (B)
(D)

Banas
Luni Mahi

Question not attempted

During the 7 stages of its integration, Greater
Rajasthan was formed on :

(A)
©
(E)

30th March 1950
30th March 1952

30th March 1949  (B)
30th March 1951 (D)

Question not attempted

In MS Excel, which of the following functions
allows one to keep specific rows and/or columns
visible while scrolling through the rest of the
worksheet ?

A) Custom View

B)  Freeze Panes
Synchronous Scrolling
D) Smart lookup

E)  Question not attempted

Which of the following districts of Rajasthan does
not share a border with Pakistan ?

(A) Barmer (B) Bikaner

Phalodi (D) Sriganganagar

(E)

Question not attempted



57. ‘Ul ot T’ H AT ‘G 3 Fenil” [
TATE 2 2
(A)  TWIWRFET
(B) T ITOTIT 3T AT
(©) a3 urddt
(D) TreIT ST FOT
(B)  3rgaia e
58. -1 3T FEI-2 FT AT FITAT :
Tt T2
CEAATINF AN | (TTad YU ERT I
%] &t Rfa) AT T STHI)
(@) |sFaw @ |w€r  (fawaria)
EIGIFE]
(b) |FHATHE(C) TR (i) |TX F FTAT IMHR
EARIRICE]
(©) |wiwd (F) MR ga (i) [3rdd o (fag-
P) F AT H AR IRIEE)
(d) |aepaTdg (C) AW [(iv) |a%q & BieT ufafaa
T e U ferepedt ® & T& 39X BT 9T BT ;
(A)  (@)-(iv), (b)), (c)-(i), (d)~(iii)
(B)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
©  (a)-(iii), (b)-(ii), (c)-(1), (d)-(iv)
(D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-()
(B)  3rqaRd e
59. Tq=faigd § ¥ f6a TSR & Hier § 1857 Hi
Shitel ST e [aT T 2
(A) et g
(B) &I ¥E
© wEmEEE
(D) = T Nag =
(B)  3rIand wed
#* DB29 13

58.

In the ‘Turra Kalangi Khyal” what do the famous
‘Turra’” and ‘Kalangi’ symbolize ?

(A) Ram and Sita

(B) Lord Ganesh and Lakshmi
(C)  Shiva and Parvati

(D) Radha and Krishna

(E)  Question not attempted

Match List-1 with List-2 :

List-1 List-2
(Position of objectin | (Size of image formed
front of concave by concave mirror)
mirror)
(@) |AtInfinity (i) |Enlarged
(b) |At the Centre of|(ii) |Same Size as the
Curvature (C) object
(c) |Between Focus (F)|(iii) |Highly
and Pole (P) diminished (point
sized)
(d) |Beyond Centre of|(iv) |Diminished
Curvature (C)

Choose the correct answer from the options given

below :

(A) (a)=(v), (b)=(ii), (c)-(), (d)-(iii)
(B)  (a)-(iii), (b)-(), (c)-(iv), (d)-(ii)
(©)  (a)-(ii), (b)-(ii), (c)-(0), (d)-(iv)
(D) (a)-(ii), (b)=(iii), (c)=(iv), (d)-(i)
(E)  Question not attempted

Who among the following led the Revolt of 1857 in

Kota, Rajasthan ?

(A) Kushal Singh

(B) Hardayal Singh

(©)  Mehrab Khan

(D) Ram Gopal Singh Kharwa
(E)  Question not attempted

P.T.O.



60.

61.

62.

63.

64.

65.

Tep TeraTere § TS (<h | bl ST, TTSehi b1 ST H 25%
3rferes 3 e et #t e F@ 1620 % 1 31 60 31X
TASTRAT TTaTer™ | YT Sdt & a7 80 g Toaed

T ST &R

(A)  20:21 (B) 2:3
(C) 33:49 (D) 39:41
(B)  3rqand e

TSR & HEI0T T, TT, AA-89 F 7 W 5
FIGER R

(A)  TRE (B) @ERT®

© TG (D) wTTE

(B)  3raRd e

AT TSI TSTRAT o [ 417 H Tl feTd Ueb o
e el 2

(A)  STeqT

(B) 3

© AR

(D) SEEH

(B)  3raRd 9o

frfafga afeat & 9 69 ‘a9 & smr
(21T 3T BREC) % ATH F W STATSEATE 2

(A)  BTeiiier (B) =A™

(©) ot (D) &t

(B) 3raRd wed

TISTEAT A HE T T&e TR BT ATH ITT FoTeg I H
TR T F FEAT TR ITIT 4T 2

(A)  HUA! ETAIR Fo GI& 8

(B) T strgATY fg

©) fadtmaftese 5o Batare

(D) FedfawEaaTT

(B) 3raRd wed

“TIR B (FHHA ) Frg uiag sitidiss ae— &
AT # faeptaa FpaT AT ot ?

(A) 3R Agar (B) . 3731 TTigaT
© =it ®. St (D) Ef. &Y. I

(B) 3raRd wed
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60.

62.

63.

64.

In a school, the number of girls is 25% more than
that of boys and the total number of students is
1620. If 60 more girls are admitted and 80 boys leave
the school, then the ratio of number of boys to that
of girls will be :

(A)
©
(E)

20:21 (B)
33:49 (D)
Question not attempted

2:3
39:41

The important saint of Rajasthan, Pipa, was
originally a ruler of :

(A)
©
(E)

Gagron (B)
Kumbhalgarh (D)

Question not attempted

Lohagarh
Bhangarh

Alibakshi Khayal is the prevalent folk drama of
which region of Rajasthan ?

(A)  Jodhpur
(B) Alwar
(©) Udaipur
(D) Jaisalmer
(

E)  Question not attempted

Which of the following rivers is also known as
“Van-Ki-Asha’ (Hope of Forest) ?

(A) (B)
© (D)
(E)  Question not attempted

Kalisindh
Parbati

Banas

Luni

Name the first person who belonged to Rajasthan
and he was awarded the Param Vir Chakra ?

(A) Company Havildar Major Piru Singh
(B) Naik Jadunath Singh

(C)  Second Lieutenant Arun Khetarpal
(D) Captain Vikram Batra

(E)  Question not attempted

The “Jaipur Foot”, a prosthetic limb, was developed
under the guidance of which renowned Orthopedic

Surgeon ?

(A) D.R.Mehta (B) Dr. Ashok
Panagariya

(©) Dr.P.K. Sethi (D) Dr. B.K. Goyal

(E)

Question not attempted



66. -1 HTYN-2 F AT FHATH HITAT :
-1 -2
(TET) (TR aTe)
(a) |qoTaTa® () (GBI AT ?
g
(b) |erfreTmamas  |() (W 3UH M T@T
T ST |
() [sreTaTaes (iii) [T |
g
(d) |Feramas (iv) |3t T8 T T&dT
T z
T fog T foepeat # 3 Tor ST 3T HT 94
BT :
(A)  (a)-(iv), (b)-(ii), (c)-(i), (d)-(ii)
(B)  (a)-(iii), (b)-(i), (0)-(ii), (d)-(iv)
(©)  (a)-(iv), (b)-(ii), (c)-(ii), (d)-(i)
(D) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(B) 3raRd e
67. “IRTT B GHAT A F A7 FECH-HT 3
TMET|” — T AT | BIA-AT FIATOT GIFT 3T
g7
(A)  dETaTaes faeror
(B)  ufiwToTaTE® fastwor
(C)  TroTaTE fagtyor
(D) |rdTTHS fagrwor
(B) IraRa ueA
68. ‘ouey’ HIfqcA T E
(A)  wTUH (B) e
©) foeder (D) e
(B) 3raRd e
69.  “Siferat TCHAT HETR FTAA L :
(A)  ®THH AT T AT
(B) STl T ZER-JER b
(C) =T TER-SR AT
(D) =X H ST T & AT
(B)  3raRd e
% DB29 15

70.

71.

72.

73.

74.

75.

76.

TrfTRad STeal # & FHEaTES ST BT IIE0
g

(A) e (B) #HHaT
Q) =W (D) T=9uA
(B)  Irqand e

‘GLOBALIZATION’ % ToTT 3uert f&dt T3 2

(A) T (B)  geltepTor
(C) FedtHIor (D)  eTEsieor
(B)  SraRd e

TP T A BIH-FTITHNE 2

(A) (B)

© (D) &R

(B)  3raRd e

‘T’ 9Teg # T TIT & :

(A) (B) U®

© = D) %

(B) 31 aRd e

TIHRT I § Ao & T 379 I fhgeht v
[ERISIGIES

(A)  waE (B) 19T

© T (D) =#&EE™

(B) 3raRd e

et # 9 fagers ot 7 -

(A) g (B) dgam

© et (D)  fafgan

(B)  3rgand e

T SHTIETT T 7 B H-TT I[07 T& =7 =Y 2
(A)  Trear (B)  Trv=aTHear
(©  gdar (D) gofar

(B) 3raRd e

P.T.O.



77.

78.

79.

80.

e sreal § & ‘3Rvn’ oreg 1 g
TEE:

@H =4

) HEAT

() T

(V) ST

(v) fafae

T Tog 7T Taepeat 7 A T SUYER 39% 61 a9+
HHfTT :

(A) &I (I1) AR (IV)
(B)  hae (I) 3 (II)
(C)  ae (III) 3T (V)
(
(

D)  &ad (I) 3 (IV)
E) 3rand 99

D) 3¢ iR BT SHTSR B

E) arqaRa ued
frafaRga A g ama g :

A)  FY foTT IST I 3T ITH ST AT |

(
(B)  IHAGXIMETISAL |
(
(

C)  #Y ! T THgT TEl 31T |
D) e s S 1 afas ddu® |

(B) 3raRd e
frefafad # 4 Ba-wrdH e AR R 2
(A) w3 (B) @R

Q)  ahT D) a9

(B)  3raRd e

% DB29

81.

82.

83.

84.

85.

el A g g s

(A) T (B) 3Sta«
© g (D)  dreHtst
(B)  SraRd e

Fraeiad @ 9 S-91 9199, Eqeqag Jaee’
FTISTEIOTE ?

(A) T IERAT A IGATE |

(B) g 3T 3T AR T T T |
(©)  Hugar, Afp TEh @I TS |
(D) WEHITABIINE |

(B)  3rgand e

“difgra’ ereg % fer 3fora arerrian®
(A) TSI TRIGT A ST bt Er

B) FEHrHd T T ATE
(© SruademF T TR

(D) S ER B g AT &S

(B)  STaRd 9ed

I + 30 B ERIEA

(A) = (B) &
© wEw (D) &
(B)  STaRd 9ed

fr=feriad & o foee oo & W fspan T
TG ?

(A)  wHieq fepbe Eaar
(B) “ET@=URE@I!
(C) ST MIETZI
(D) X et AT |

(B)  3rqand wed



86. Choose the most appropriate option to convert
the given sentence from Indirect to Direct
Speech :

This morning, he said that he would leave for

Hyderabad the next day.

(A) That morning, he said, “I will have left for
Hyderabad the next day.”

(B) This morning, he said, “I will leave for
Hyderabad tomorrow.”

(C) This morning, he said, “He will leave for
Hyderabad the following day.”

(D) This morning, he said, “I may leave for
Hyderabad tomorrow.”

(E)  Question not attempted

87.  Convert the following sentence from Hindi to

English :

H M qATHE |

Choose the most appropriate answer from the
options given below :

(A) lam tensed today.

(B) IwishlIcould justrelax.

(C) Ilam stressed about something.

(D) Iam stressed these days.

(E)  Question not attempted

88.  Choose the most appropriate option to convert
the given sentence from Active to Passive
Voice :

People consider him to be a fair judge.

(A) Heis considered by people to fairly judge.
(B) Itis hoped that he is a fair judge.

(C) Heis considered to be a fair judge.

(D) Hisjudgement is considered to be fair.

(E)  Question not attempted

89. Choose the most appropriate option to replace
the underlined part of the following sentence in
order to make it grammatically correct :

Amrita didn’t knew my address.

(A) didn'thad

(B) didn’t known

(©) didn’t know

(D) no correction needed

(E)  Question not attempted
* DB29

90.

91.

92.

93.

Choose the most appropriate option to convert
the given Interrogative sentence to an Assertive
sentence :

Was he not kind to help you ?
(A) He has displayed kindness, has he not ?

(B) What a kind man he is!

~

(C) Heis so kind that he decided to help you
in that difficult situation.

(D) He was kind enough to help you.
(E)  Question not attempted

Choose the suitable word to fill in the blank in
the following sentence :

I wish to my ties with that

organization.
(A) severe (B) sever
(C) several (D) surreal

(E)  Question not attempted

Choose the option with the correct use of
punctuation(s) :

(A) “Iam going tomorrow he” said.

(B)  Prashant likes croissant doesn’t he ?

(C)  We need snacks, drinks and lights.

(D)  The sun having risen : we left for the town.
(E)  Question not attempted

Convert the following sentence from English to
Hindi :

Dr. Gupta will buy the house that I built last
year.

(A) AT I8 TR TG e St A s e
AT AT |

(B) . T aE WX WG St H fuwe @
T T |

(©) ST I A AT E ERET |
(D) = e A A N R AT RE |

(E)  Question not attempted

P.T.O.



9.

Fill in the blank in the following sentence with
the correct tense :

I for jobs on jobhunt.com these days
with the hope that I might get called for
interviews.

(A) applying

(B) have been applying
(C©) has applied

(D)  have applied

(

E)  Question not attempted

95. Choose the most appropriate option to convert
the given Assertive sentence to a Negative
sentence :

The fort was demolished before it was

surrendered.

(A) The fort was not surrendered until it was
demolished.

(B) The fort was neither demolished nor
surrendered.

(C) The fort was surrendered before it was
demolished.

(D) The fort was demolished and
surrendered.

(E)  Question not attempted

96. Fill in the blank with an appropriate

determiner :
milk is left in the bottle ?
(A) Some (B) How many
(©) How much (D) Any
(E)  Question not attempted

97.  Choose the most appropriate option to convert
the given Assertive sentence to an Exclamatory
sentence :

I ardently wish to have a small house to live in

Goa.

(A) How I wish for a small house to live in
Goa!

(B) What a pity! I do not have a small house
to live in Goa!

(C)  What a small house in Goa!

(D) It is my wish to live in a small house in
Goa.

(E)  Question not attempted

* DB29
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98.

99.

100.

Fill in the blanks by matching List-I with
List-II :

List-I List-II
(@) |They will return (i) |below
6 p.m.
(b) |[You must atone (if) | till
your sins.
(c) |They live us. (iii) | for
(d) |He studied 11 p.m. |[(iv)|by

Choose the correct answer from the options
given below :

(@)-(i1), (b)-(iv), (0)-(ii), (d)-(i)
B)  (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(E)  Question not attempted

What is the official/technical term for
“Complaint or a cause for complaint” ?
Provision

(A) Sadness (B)

(C©)  Grievance (D) Publication

(E)  Question not attempted

Fill in the blank in the following sentence with
the most suitable article.

news you broke to your wife made
her nervous and she broke down.

(A) An (B) A
(C) Noarticle (D) The
required

(E)  Question not attempted



101. T AT T ST 7 8 km/h ¥ AT TAT HHaAT & | TS
TS HIRTBIIT 2 kmn/ h ZTITIY T T TF AT
AT 3T IUF 3 | 2 °e BT Y T 8, A 98
T R X (km #) WE ?
(A) 725 (B) 75
Q) 76 (D) 775
(B)  3rqaRd e
102. feAtariad # o pY WTASTi-e ATHAT & & § T
ET-2025 H FHAT( FATITATE ?
(A) ST gaR™ e
(B) ot gefted HwIR wIGT
© MIHATES
(D) s\t arserfa weramd
(B)  3raRd e
103. 3 2025 # FrAferiad # ¥ fopdt Tomem ot |ar
T <7 3reet ferger P & 2
(A)  IheA THEE
(B) @t 3y
© RefrEues
D) wu=TE
(B)  3rqaRa e
104. Trfaiad § ¥ BI9-9T7 U6 T 6 GIoeda T8t
g9
(A) TS BRI
(B) SamgTAU
©) uvATH.EE
(D)  =FgIfa®
(B)  3rqaia e
105.  Tepae Ao F I AT AT ST IR 10% TR
W T B A T[T & ST 2
(A) 3099 (B) 15a9
© 20a9 (D) 2599
(B)  3rqaRa e
#* DB29 19

101.

102.

103.

104.

105.

A man can row a boat at 8 km/h in still water. If the
speed of water current in the river is 2 km/h and he
takes 2 hours to row to a place and come back, then
how far off is the place (in km) ?

(A) 725 (B) 75
< 76 (D) 7.75
(E)  Question not attempted

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public

Affairs ?

(A) Dr. Sitaram Jindal

(B)  Shri Sushil Kumar Modi

(C)  Shri Ram Naik

(D) Smt. Arundhati Bhattacharya
(E)  Question not attempted

Who among the following has been appointed as
the Chairman of the Rajasthan Public Service
Commission in June 2025 ?

(A) Utkal Ranjan Sahoo

(B) Sangeeta Arya

(C)  Shiv Singh Rathore

(D)  Bhupendra Singh

(E)  Question not attempted

Which of the following is not an Application
Software ?

(A) Adobe Photoshop

(B) GIMP

(©) MSWord

(D) QBASIC

(E)  Question not attempted

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A)
©
(E)

30 years (B)

(D)

15 years
20 years 25 years

Question not attempted

P.T.O.



106. T=IfeTiad # | TR 1T RS I & o= rfwfsear
& qorreErey fazerma srfufrar gntt 2
(A)  FeSO, faeta iR qtar o
(B)  AgNO; faea= i afam o
(©)  cuso, faaam iR =it arg
(D)  NaCl faerae X atamemg
(B)  3raRd e
107. WA &t FAT0MET (2011) & AR, TS TH H,
TrfeTiad 7 o o FSret St ST (S ) 9
FALT?
(A)  wTEH (B) SR
© == (D) TSHHES
(B)  3raRd e
108. 1428 H FHIF-Tl BIST A BIST AT Bl S T UT
@3, 4, 5 3R 6 F Yoid: fawrsa grtt 2
(A) 12 (B) 15
© 18 D) 9
(B) 3raRd wed
109. ForeAferiad & & -t Tt Tat Bt T Aoy 7E
27
(A) ™ (B)  Hmat
© ettt (D) =TEr
(B) 3raRd wed
110. WRA FI FTAUET (2011) F IR, TRAE &
frrferiaa & @ fopw el 1 steem & gpar gig
T (2001-2011) T H T FHH oF 2
(A)  wTEH (B) et
© =t (D)  sifTeRR
(B)  3rIand wed
% DB29

106.

107.

108.

109.

110.

20

The reaction between which of the following pairs
of reactants, will result in a displacement reaction ?

(A)  FeSOy solution and Copper metal
(B)  AgNOj solution and Copper metal
(C©) CuSOy solution and Silver metal
(D) NaCl solution and Copper metal
(E)  Question not attempted

As per the Census of India (2011), which of the
following districts had the lowest population (in
numbers) in Rajasthan state ?

(A) Barmer (B) Jaisalmer
(©) Churu (D) Rajsamand
(E)  Question not attempted

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by 3,4,5and 6?

A) 12 (B) 15
(© 18 D) 9
(E)  Question not attempted

Which of the following rivers is not a tributary of
the river Chambal ?

(A) Banas (B) Parbati
(C©) Kalisindh (D) Mahi
(E)  Question not attempted

As per the Census of India (2011), which of the
following districts of Rajasthan had the lowest
decadal population growth rate (2001-2011) in
percentage ?

(A) Barmer (B) Karauli
(©) Dausa (D) Sriganganagar
(E)  Question not attempted



111, A T FROT T BT :
TrrTTeTRE Tarshedt # 3 W SUgaR ST I
(A) TR H G 35 BT 3TTBAT
(B) T H EIHITCAISI I TTerape
Q) T ¥ feretieterd @ srferear
(D) oS | UICTTIH ¥ 3TRIhaT
(B) 31 aRd e
112, TR ST 6T THAAE AL
(A) CaSOy (B) CaOCl,
(C) NaHCO4 (D) NayCOs
(B)  3raRd e
113. 1615 ¥ HATS-TA Wi, STENTR MY 6 o= g8
ot 2
(A)  TERTON IS e
(B)  oTT 37 @1
©) TmsgE e
(D) HERTOMFHFEAT
(B) 3raRd wed
114. TR A 7 d ST §ieaT I T7-2025 F HIF-HT
TAT VT AT ?
(A) W (B) u=H
© g (D) fet
(B) 3raRd wed
115, “Tamer” TleRad # & TIid arad=l &f 6 st
% AT TThd [BIATSIATE ?
(A) I AT (BISTBI)
(B) &g AT (TIRIBI)
(©  TIcdt ame (HwATHN)
(D) SR AT (STEaThi)
(E)  sraRa usd
% DB29 21

111.

112.

113.

114.

115.

Jaundice is caused due to :

Choose the most appropriate answer from the
options given below :

(A)  Excess of uric acid in the blood

(B)  Excess of hemoglobin in the blood
(C)  Excess of bilirubin in the blood
(D)  Excess of potassium in the blood

(E)

Question not attempted

The chemical formula of Baking Soda is :

(A) CaSOy4 (B) CaOCl,
(©) NaHCO4 (D) NayCOj
(E)  Question not attempted

In 1615, the Mewar-Mughal treaty was signed
between Jahangir and :

(A) Maharana Raj Singh

(B) Rana Amar Singh-I

(C©) Rana Uday Singh

(D) Maharana Kumbha

(E)  Question not attempted

What position did Rajasthan secure in the 7th Khelo
India Youth Games-2025 ?

(B)
(D)

(A) First Fifth
©)

(E)

Third Second

Question not attempted

The “Nagara” is classified under which of the
following categories of musical instruments ?

(A) Chordophone

(B)  Aerophone

(©) Membranophone

(D) Idiophone

(E)  Question not attempted

P.T.O.



116.

117.

118.

119.

120.

% DB29

ferea wrrteror fea 2025 Fefed 7 o T 75 o2 | 116.
TIRTe &aT S B gU AATATIAT ?
(A) TSt oot ISTTqaT 7 FJIGToT
(B) TS WHOT BT WA FHIAT
(©) TS IS T TETOT
(D) 3T &t IR R e
(B) IraRa wed
IRTIA TATHATAT b {68 WY H ARETG Tdq et R | 117.
22
(A)  HeF INTAAT G
(B)  gfgrott 3WTaT &=
Q) IR STt g
(D) gfgror-gdt gt &=
(E) sraRa usd
2011 FISTATOATS A, Freferhiad # & ot e | 118.
B HTGRAT TR 75% T 37Terh o 2
(A)  SETET (B) SRR
© et (D) 3T
(B) 3raRd wed
3R E1.3ME. ATUTTT# (2005) Y FATeriad # @ foer | 119.
TR # AT 5 WS BT A B BT AT & 2
(A) w3 (B) emT4
© ums (D) urT12
(B)  3raRd e
=9 AT F {S AETERT S g % fag, (120
W &7 TEAT T A G Bt e -
(A)  weEH
(B) Wit
(C) WA & &= TATERNLT
(D) FHEFIEHIAT
(B)  3rfaia usA
-00o0-
22

The World Environment Day 2025 was celebrated
with a special focus on which of the following
issues ?

(A) Conservation of big cat species
(B) Ending plastic pollution

(C)  Marine species conservation

(D)  Ecological restoration of wetlands
(E)  Question not attempted

In which part of the Aravalli range, is the Taragarh
mountain peak, located ?

(A) Central Aravalli Region

(B)  Southern Aravalli Region

(C©) Northern Aravalli Region

(D)  South-Eastern Plateau Region
(E)  Question not attempted

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?

(A) Jaisalmer (B) Jalore
(©) Kota (D) Alwar
(E)  Question not attempted

Which of the following sections of the RTI Act
(2005) has the provision for exemption from
disclosure of information ?

(A) Section3 (B) Section 4
(C)  Section 8 (D) Section 12
(E)  Question not attempted

For appointment of the Chief Justice of a
High Court, the President of India consults
the :

(A) Prime Minister

(B)  Chief Minister

(C©)  Chief Justice of India
(D)  Union Home Minister
(E)  Question not attempted
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